| mean # PXL hits vs eta

5

<pixel hits>

| mean # PXL Layers with measurement vs eta

<pixel layers>
w
R

W

N
[4)

N

15

| mean # STRIP hits V|

—«— DQM_V0001_R000000001__Global

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
__mkFitNewTEST1000time__RECO

<strip hits>

N b~ O 0

221

Ratio
=

R Ta e

<strip layers>

(2]
T | LI
»
_E_._
el |
- »
Esy

=

o
!
¥

0.9

Ratio
=
IIIIIII
%
-
_+_
e
— T
e
—.—.
»
+

0.8



	Contents
	Page 1


